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P Power

(20 points)

Time Limit: 4 seconds
Memory Limit: 512 MB

Description

There is some power between a sequence and a prime number, called P power.
If there are K elements which can be divided by that prime number in the sequence, then the P power
between them is K.

Smith is a professor who researches P power. One day he finds a sequence §S.
To research this sequence, Smith decides to find the P power between some consecutive subsequence,

S[L1, R1], S[La, R2|,- -+, S[Lg, Rg| and some prime numbers Pj, Ps, ..., Po.

For convenience, itis guaranteed that Ly < Ly <...< Lg_1 < Lgand Ry < Ry <...< Rp_1 < Ry.

»)

’ "
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The P power between the sequence (1,2, 3,4) and the prime number 2 is 2, since there are two elements
in the sequence which can be divided by 2.

Input Format

The first line of the input contains an integer T, representing the number of test cases.

The first line of each test case contains two integers IV, (), representing the length of the sequence and the
number of queries.

The second line of each test case contains IV integers, S1, .Ss, ..., Sn.representing the elements in the
sequence.

Each of next @) line contains three integers L;, R;, P;, representing that Smith wants to know the P power
between the subsequence S[L;, R;] and P;.
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Output Format

For each query, please output the P power between the subsequence and the prime number.

Constraints

1<T<10°

1<N,Q<5x10°

It is guaranteed the sum of N doesn't exceed 5 x 10°.

It is guaranteed the sum of @ doesn't exceed 5 x 10°.
Vi=1,2,---,N>1<8; <5x10°

Vi=1,2,---,Q 1<L;<R;<N->1<P; <5x10°
Vi=1,2,---,Q —1-L; < Ljy1 » B < Riq

Input Example 1

W N R RRRAMNR
A A DN WNNG
N U1 N W N W

Output Example 1

R O N R R

Input Example 2
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Output Example 2
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Output Example 3
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Example Explanation

In example 1.
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S[2]in S[1, 2] can be divided by 2, so you should print 1.
S[3]in S[1, 3] can be divided by 3, so you should print 1.

S[2], S[4] in S[1,4] can be divided by 2, so you should print 2.
No element in S[2, 4] can be divided by 5, so you should print 0.

S[4]in S[3, 4] can be divided by 2, so you should print 1.
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